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Reproduction
Catalyst: Sexual reproduction occurs anytime you make a new living thing with information 

from two parents.  How many parents do you think are needed for asexual reproduction?
______________________________________________________________________________

Directions: Watch the movie and answer the questions.
1) Do single cell organisms reproduce using sexual or asexual reproduction? _______________

2) Do your cells make copies of themselves using sexual or asexual reproduction? ___________

3) Do many-celled organisms reproduce using sexual or asexual reproduction? _____________

4) Match the steps of a cell’s life and mitosis to the descriptions.

________ Interphase



A) Sister chromatids separate
________ Prophase



B) DNA condense, nucleus disappears

________ Metaphase



C) Nuclei for two new cells appears
________ Anaphase



D) Chromosomes line up in middle of cell
________ Telophase



E) Most of the cell’s life,  DNA copies itself

5) What are cancer cells? ________________________________________________________
6) What is the purpose of cells with only one of each chromosome? ______________________

7) Is making cells for sexual reproduction called mitosis or meiosis? ______________________

8) How is mitosis different from meiosis? ___________________________________________

___________________________________________________________________________

Sexual reproduction is much more complicated than asexual reproduction.  It requires two parents, an extra cell division stage, and usually more effort on the part of the parents.  However, most multicellular living things reproduce using sexual reproduction.  Why is this true?  Today we will do an activity to see some of the negative side effects of asexual reproduction.
Pre-lab:
1) When an organism reproduces sexually, are its children exact copies of itself? ____________
2) When an organism reproduces asexually, are its children exact copies of itself? ___________

3) If an organism reproduces asexually, and has 100 children, how are its children similar or different from each other? _____________________________________________________

Procedure:
1) Empty your lab bin.  It will represent a pool of water.

2) You should have four bags of beads.  They represent paramecium (a single celled organism).

The different colors represent different forms of a trait.

3) Place 3 of each color of bead in the bin.

4) Each bead reproduces asexually.  For each bead in the bin, add an exact copy.
	
	# Red
	# Black
	# Blue
	# White
	Events

	Generation 0
	
	
	
	
	Each paramecium reproduces once.



	Generation 1
	
	
	
	
	Chemical in water, each paramecium reproduces once except red.

	Gen 1.5
	
	
	
	
	A disease strikes, killing all white paramecia

	Generation 2
	
	
	
	
	Each paramecium reproduces once.



	Generation 3
	
	
	
	
	Each paramecium reproduces once.



	Gen 3.5
	
	
	
	
	A predator strikes, killing all blue and 

½ black paramecia

	Generation 4
	
	
	
	
	Each paramecium reproduces once.



	Gen 4.5
	
	
	
	
	Not enough food, ¾ red and ½ other paramecia die.*

	Generation 5
	
	
	
	
	Each paramecium reproduces once.




· ¾ of 16 = (16*3)/4 = 48/4 = 12
Conclusion:
1) How many offspring did red have at the end? _________________________________

2) How many offspring did black have at the end? _________________________________

3) How many offspring did blue have at the end? _________________________________

4) How many offspring did white have at the end? _________________________________

5) If something happens to kill off all organisms with one form of a trait, will that trait ever appear again? ____________________________________________________________

6) Why do you think multicellular organisms don’t use asexual reproduction? ___________

___________________________________________________________________________

___________________________________________________________________________
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